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Choose The Correct Answer

3rd

1. If ( 2,3) is a solution of linear equation 

then, the value of k is

A. 12

B. 6

2x + 3y = k

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_K2MwIHjAsi48


C. 0

D. 13

Answer: D

Watch Video Solution

2. If  where  and 

 then the given pair of linear

equation has  solution (s) .

A. no solution

B. two solutions

C. unique

= =
a1

a2

b1

b2

c1

c2

a1x + b1y + c1 = 0

a2x + b2y + c2 = 0

____________

https://dl.doubtnut.com/l/_K2MwIHjAsi48
https://dl.doubtnut.com/l/_dbVJrvHbgLug


D. infinite

Answer: C

Watch Video Solution

3. The ratio in which the x-axis divides the line segment

joining the points  and  is

A. 

B. 

C. 

D. 

Answer: B

A(a1, b1) B(a2, b2)

b1 : b2

−b1 : b2

a1 : a2

−a1 : a2

https://dl.doubtnut.com/l/_dbVJrvHbgLug
https://dl.doubtnut.com/l/_x0PgT49UDEPS


Watch Video Solution

4. The mid-point of the line joining (-a, 2b) and (-3a, -4b) is

A. (2a, 3b)

B. (-2a, -b)

C. (2a, b)

D. (-2a, -3b)

Answer: B

Watch Video Solution

5. If  issin 30∘ = x  and cos 60∘ = y,  then x2 + y2

https://dl.doubtnut.com/l/_x0PgT49UDEPS
https://dl.doubtnut.com/l/_3JkpPKRNnXBH
https://dl.doubtnut.com/l/_KYn1puJvjOzg


A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

1

2

sin 90∘

cos 90∘

6. The value of  is

A. 2

B. 1

C. 0

1 − tan2 45∘

1 + tan2 45∘

https://dl.doubtnut.com/l/_KYn1puJvjOzg
https://dl.doubtnut.com/l/_k1yh3DUYBYvR


D. 

Answer: C

Watch Video Solution

1

2

7. If the sides of a triangle are 3 cm, 4 cm and 5 cm, then

the area is

A. 

B. 

C. 

D. 

Answer: B

3cm2

6cm2

9cm2

12cm2

https://dl.doubtnut.com/l/_k1yh3DUYBYvR
https://dl.doubtnut.com/l/_Zc721GBNaW4u


Watch Video Solution

8. The capacity of a water tank of dimensions

 is

A. 75 litres

B. 750 litres

C. 7500 litres

D. 75000 litres

Answer: D

Watch Video Solution

10m × 5m × 1.5m

https://dl.doubtnut.com/l/_Zc721GBNaW4u
https://dl.doubtnut.com/l/_qcKliO2ObJAS


9. Probability lies between

A. 

B. 0 and 1

C. 0 and n

D. 0 and 

Answer: B

Watch Video Solution

−1 and + 1

α

10. The six faces of the dice are called equally likely if the

dice is

https://dl.doubtnut.com/l/_tqc6v4xm25QF
https://dl.doubtnut.com/l/_PAES0rTWmOGl


Answer Any 12 Questions Questions No 25 Is Compulsory

A. small

B. Fair

C. Six-faced

D. Round

Answer: B

Watch Video Solution

1. Solve the linear equation : .

Watch Video Solution

=
2(x + 1)

2

3(x − 2)

5

https://dl.doubtnut.com/l/_PAES0rTWmOGl
https://dl.doubtnut.com/l/_sXriQjBFu9PA


2. Find the slope and y-intercept of the line given by the

equation 2y-3x=12.

Watch Video Solution

3. Check whether (5,-1) is a solution of the simultaneous

equations x-2y=7 and 2x+3y=7.

Watch Video Solution

4. The centre of a cirlce is (-4,2) . If one end of the

diameter of the circle is (-3,7) tehn find the other end.

Watch Video Solution

https://dl.doubtnut.com/l/_eMHCPXFj4CZ6
https://dl.doubtnut.com/l/_rkimKnrKi36n
https://dl.doubtnut.com/l/_Jyh1HWkjzzKZ


5. What are the coordinates of B if point P(-2,3) divides

the line segment joining A(-3,5) and B internally in the

ratio 1:6?

Watch Video Solution

6. Find the centroid of the triangle whose vertices are

(-5,-5), (1,-4) and (-4,-2).

Watch Video Solution

7. From the given figure, find all the trigonometric ratios

of angle B. 

https://dl.doubtnut.com/l/_dEKJPZIapxIT
https://dl.doubtnut.com/l/_3FhvIAcEYk1C
https://dl.doubtnut.com/l/_IE62lpXa8lmX


Watch Video Solution

8. Evaluate : i) 

Watch Video Solution

sin 30∘ + cos 30∘  (ii) 
sin 49∘

cos 41∘

9. If , find B.

Watch Video Solution

tanB = cot 47∘

https://dl.doubtnut.com/l/_IE62lpXa8lmX
https://dl.doubtnut.com/l/_Alkpgo2Vb0MP
https://dl.doubtnut.com/l/_39u87HMyk4QZ


10. Using Heron's formula, find the area of a triangle

whose sides are 

10 cm, 24 cm, 26 cm

Watch Video Solution

11. Find the Total Surface Area and Lateral Surface Area of

the cube, whose side is 5 cm.

Watch Video Solution

12. The dimensions of a match box are

. Find the volume of a packet

containing 12 such match boxes.

6cm × 3.5cm × 2.5cm

https://dl.doubtnut.com/l/_LjkkxPyqBrBA
https://dl.doubtnut.com/l/_ixQ2m16opS47
https://dl.doubtnut.com/l/_uOmb5uRRY34V


Answer Any 7 Questions Questions No 35 Is Compulsory

Watch Video Solution

13. When two coins are tossed, what is the probability

that two heads are obtained?

Watch Video Solution

14. The probability that it will rain tomorrow is  what

is the probability that it will not rain tomorrow?

Watch Video Solution

91

100

https://dl.doubtnut.com/l/_uOmb5uRRY34V
https://dl.doubtnut.com/l/_kOl1bPGlVepl
https://dl.doubtnut.com/l/_0E6LQMo2k4xh
https://dl.doubtnut.com/l/_sGfclsxsagGv


1. Solve  by cross

multiplication method.

Watch Video Solution

2x = − 7y + 5, − 3x = − 8y − 11

2. The sum of a two digit number and the number formed

by interchanging the digits is 110. If 10 is subtracted from

the first number, the new number is 4 more than 5 times

the sums of the digits of the first number. Find the first

number.

Watch Video Solution

3. ABC is a triangle whose vertices are A(3,4) B(-2,-1) and

C(5,3). If G is the centroid and BDCG is a parallelogram

https://dl.doubtnut.com/l/_sGfclsxsagGv
https://dl.doubtnut.com/l/_LxXYru4098FP
https://dl.doubtnut.com/l/_Q4nndeSh0EVC


then find the coordinates of the vertex D.

Watch Video Solution

4. Find the value of

Watch Video Solution

+
cot θ

tan(90∘ − θ)

cos(90∘ − θ)tan θ sec(90∘ − θ)

sin(90∘ − θ)cot(90∘ − θ)cos ec(90∘ − θ)

5. Find the area of a right triangle whose hypotenuse is 10

cm and one of the acute angle is  24'.

Watch Video Solution

24∘

https://dl.doubtnut.com/l/_Q4nndeSh0EVC
https://dl.doubtnut.com/l/_kIzZWt6iPcz2
https://dl.doubtnut.com/l/_lzNyRBPTLe9y


6. A cubical container of side 6.5 m is to be painted on the

entire outer surface. Find the area to be painted and the

total cost of painting it at the rate of ₹ 24 per .

Watch Video Solution

m2

7. The side of the metallic cube is 12 cm. It is melted and

formed into a cuboid whose length and breadth are 18 cm

and 16 cm respectively. Find the height of the cuboid.

Watch Video Solution

8. In an office, where 42 staff members work, 7 staff

members use cars, 20 staff members use two - wheelers

https://dl.doubtnut.com/l/_L3D56W8lMPDy
https://dl.doubtnut.com/l/_cr68BNyecsWv
https://dl.doubtnut.com/l/_vKrU0q6ayYer


Answer The Following

and the remaining 15 staff members use cycles. Find the

relative frequencies.

Watch Video Solution

9. If , then find the values of sin A and tan

A in terms of x.

Watch Video Solution

cosA =
2x

1 + x2

1. Draw the graph of the line given by the equation

 
y = 4x − 1

https://dl.doubtnut.com/l/_vKrU0q6ayYer
https://dl.doubtnut.com/l/_gFljIUA3B7BE
https://dl.doubtnut.com/l/_595BsJxniYB1


 (or) 


Use graphical method to solve the following system of

equations 

Watch Video Solution

                                 

3x + 2y = 6, 6x + 4y = 8

https://dl.doubtnut.com/l/_595BsJxniYB1

